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1. EEBEROE
(1) BEEILE
OEAMEEALE 100, 000 100, 000 0
FARAPER]E 100, 000 100, 000 0
DEES ¢ 1, 400, 000 1, 400, 000 0
RS = Gl e 1, 400, 000 1, 400, 000 0
@ ME T & 20, 300, 000 23, 300, 000 A 3,000, 000
e 20, 300, 000 23, 300, 000 A 3,000,000
@HeLE 0 0 0
SRR 0 0 0
R IR F 21, 800, 000 24, 800, 000 A 3,000, 000
(2) BE&A
OFxE 21, 940, 000 25, 510, 000 A 3,570,000
Bh 455 11, 000, 000 11, 000, 000 0
1R TE 320, 000 370, 000 A 50,000
VHRE S 2 475, 000 510, 000 A 35,000
F i LA 2y 6, 655, 000 11, 120, 000 A 4,465,000
B R 1, 050, 000 1, 000, 000 50, 000
FHFLATR 25, 000 30, 000 A 5,000
JAmAE AN 150, 000 150, 000 0
et 2, 265, 000 1, 330, 000 935, 000
QEHE 1, 555, 000 1, 785, 000 A 230, 000
Nt 615, 000 815, 000 A 200, 000
= @YPiik=¢ 200, 000 200, 000 0
T {E 30, 000 50, 000 A 20,000
THFE( AR n 40, 000 50, 000 A 10,000
FI I A2y 0 0 0
HEE: 670, 000 670, 000 0
it i e 23, 495, 000 27, 295, 000 A 3,800, 000
BTG 18 25 25 S Al X4 2050 S DA A 1,695,000 A 2,495,000 800, 000
FEARPA PERTAT RS 45 0 0 0
B PE RN E 45 45 0 0 0
PG e AT 1 A 55 0 0 0
PHlE RS 0 0 0
LR HERAE A 1,695,000 A 2,495,000 800, 000
2. BEIHEB O
(1) BEIMEE
REH AN 0 0 0
BH MR F 0 0 0
(2) BENER
RSV 0 0 0
BHINE A 0 0 0
LHIRESMHEBAR 0 0 0
S EHREESR 0 0 0
X B — R EBR B PEHE AR A 1,695,000 A 2,495,000 800, 000
—IRERMEHNEER 0 3, 435, 720 4, 381, 160 A 945, 440
—RIERMEHFRER (A) 1, 740, 720 1, 886, 160 A 145, 440
0 {EEERMEEB O
U 48 K8 IE R PR AR 0 0 0
BEERMENEES 500, 000, 000 500, 000, 000 0
HEERMESNAZS (B) 500, 000, 000 500, 000, 000 0
(Il EBRREHIAER (A) + (B) | 501, 740, 720 501, 886, 160] A 145, 440|
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